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GENERAL APTITUDE AND ETHICS

Part—1/9m1-1

Marks — 30 / 3 - 30
AT WU H S 15 59 F | AW S A E | 5 09 % T 02 37 e E

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

1 WHEHW‘THWW(JW: [958 : 20 =]
BUCKET : ACTVBDILDEFSU :: BONUS : ?
Find the missing term in the following analogy : [Answer Limit : 20 words]

BUCKET : ACTVBDJLDEFSU :: BONUS : ?
,  THHeIES FE ° SAET 9 % 91 UF FIF FEOT £ 997 FHH T TF FAT 9T F 2
FATL ;. STCEET H YEET H g SAE E
Tl :  JFE-EIHE T AR, SN & HEe ST T Eae Mararedr T E |
[T | : 20 vi=]
In the following statements, identify which one is the cause and which one is the effect ?
Statement I : Uttarkashi is very prone to earthquakes.
Statement II : According to seismologists, there is a lot of tectonic activities
going on the down belt of Uttarkashi.
[Answer Limit : 20 words]

20 TEOT %, 30 § A9 THU T e & Sy A 4 (I F | 3 HEUT W
HHFIT A 31 it | [Zo% T : 20 9=
The algebraic sum of the deviations of 20 observations, measured from 30, is 4
(four). Find the arithmetic mean of these observations. [Answer Limit : 20 words]

R \/§+\F \/E.FJ?”“T'%‘” e A
Fmdthevalueot(g\/— \/5+\/_ \/E_,_\[_ \E+IJ

[Answer Limit : 20 words]

5  C U 9195 I £ | C %7500%, 500 C 7 Toheaem % & 2 [S5% 9 : 20 v
C is a positive number. What % of 500 C, is 500% of C ?
[Answer Limit : 20 words]

6 A AT B F AT H40% FeeE & | A% A | B %1 a0 oA wtoerd (%) FH & ?
(S &= 20 9=
A’s salary is 40% more than B’s salary. By what percentage (%) B’s salary is less
than A’s salary ? [Answer Limit : 20 words]

7 3= 05 SFEEr, 2000 T HEER &, @7 30 7=, 2000 0 HE A6 ST w6 2
[ST 94T ;20 =]
It o5 January, 2000 is Monday., then what would be the day on 30™ March,
2000 ? [Answer Limit : 20 words]

8 T T I SN TN I §F U Wi FieAl, “SohT Tel 7Y T9eT i THheAredl T & I° 59
=T T S F T T E 9 [ST% |47 : 20 =]
Pointing towards a person, a woman said, "His wife is the only daughter of my
father.” What is the relation of that person with the woman ?

[Answer Limit : 20 words]
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o o L S ke 2 1 2 b T . =

9 4SS YATcHeh JHEETAT ohT TOTm L HI 12 & TUT SARI BIcHh HIE llﬁﬁ_mawmt
T E ? [S= 9T : 20 vr=]

If geometric mean of two positive numbers is 12 and their harmonic mean is 1 ]ﬁ.

then what are the numbers ? [Answer Limit : 20 words]

10 dﬂirﬁ#ll+>| SMEROT T AT 3Tegae & 312ET aeTs 37T ? EEER %ﬂr:_rrtf |
[So% 9 : 20 v
Ethics is a Normative Study of Conduct or Positive Study ? Discuss.
[Answer Limit : 20 words]|

11  go % UHRI T T HIET | [STT == ; 20 5
Elucidate the kinds of ‘values’. [Answer Limit : 20 words]
12 9 % &7 |, TSI B2 1 T A0EN 7 2 [ST% & : 20 =]

What is the contribution of Emmanuel Kant in the field of Ethics ?
[Answer Limit : 20 words]

13 FE-FEHC T T 9T TS 7 7 [S5T 9T 20 I
What do you understand by work-culture ? [Answer Limit : 20 words]
14 AT § SAIYEE W ToF B H E 2 [ST% & : 20 o=

What are the important values required in public service ?
[Answer Limit : 20 words]

15  3T=RUT 6 FeEd 7 2 [S=T | : 20 =)
What is Conduct ? [Answer Limit : 20 words]

Part— 2/ AWT -2
Marks — 50 / 31 - 50
AT T AN R FHA 10 WE £ | |H WY AMaE £ | UE T % o 05 3HF
Feia & |
Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

16 =T AIAYIET e =il Aasias 9 Jeead & 2 9 aa=mn Siew |
[T 9= ;50 I
Why Ethics is related to rational human life only ? Discuss briefly.
[Answer Limit : 50 words]

17 |9 Ugra 1 S | [S% 91 : 50 =]
Describe moral attitude. [Answer Limit : 50 words]

B & . % T - A
18 HIel SR o o101 o B § "YIGAcqs qi5 ol [Gaem] Hie | [0 47 : 50 9]

Discuss ‘Emotional Intelligence” as a trait of human personality.
[Answer Limit : 50 words]

19 FHONZ IEA SFEIT R T 2ol @y | [ST% 9 : 50 =]
Write a note on Corporate Governance. [Answer Limit : 50 words]
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s0 TS THERIOT T T WG £ FIT BT [T 5= : 50 v
2 2 1 3 4 1
XT3y T6 N xty T2

Solve the following equations taking them as linear : [Answer Limit : 50 words]

2.2 1. .3 4 O
¥ T8y BT T B

21 T IAIT YR T 591 F O, ST I Ao 3 STF0HT B ST 30T BT |
[ 97 50 9=
Find the ratio of the volumes of cone, hemisphere and cylinder which are made

with the same circular base and height ? [Answer Limit : 50 words]
22 THEACITER SRS W ST G91 FEeTh Sl Y IO [ST% 941 : 50 v
25, 33, 72, 65, 29, 60, 30, 54, 32, 53,42, 52, 42, 51, 42, 48, 45, 47, 46, 33

Find the difference of median and mode of the following data :
25, 33, 72, 65, 29, 60, 30, 54, 32, 53,42, 52,42, 51, 42, 48, 45, 47, 46, 33
[Answer Limit : 50 words]

23 WW%WWW T g 158991 | =595 ?ﬂﬁrmsohlm TS=ehl 3T g 12

9 6 TE 7, 5T U9 TS9O T F HOFET G 6 T T2 TE | FT AR H

Terere Teremet & 2 [Z% 9T : 50 =]

The average age of a class was 15 years. When 5 more boys, whose average age

was 12 years 6 months were admitted in the class, the average age of the whole

class was reduced by 6 months. How many students were there in the class

originally ? [Answer Limit : 50 words]

24 TS 150 FHET FT WIS GoF 120 FHST o 1957 Tod & S &, 1 Uawd § oy 37a

FT | [S7% 5m7 : 50 v
[f the cost price of 150 shirts is equal to the selling price of 120 shirts, find the
profit in percentage. [Answer Limit : 50 words]

25 WWABC‘m”ErmﬁgaTBWC‘ﬁmﬁm (1,-2) AT (2. 3) & | aFT 99
AT@ 2 +y—2=0WE| 0 1 &% § T TFE & | 9T A % a9 70 Y |

[—?rrwrm 50 vr=]

The coordinates of the vertices B and C of a triangle ABC are (1. -2) and (2, 3),
respectively. Third vertex A lies on the line 2x + y — 2 = 0. Area o‘r the triangle 1s 8
square units. Find the coordinates of the vertex A. [Answer Limit : 50 words]

Part-3/9m1-3
Marks — 40 / 3% - 40
AT UM AFA 07 WA E A 02 TUT E | ®@UT — 1 % 04 U H ¥ fEE 03
T T @S — 2 % 03 79T ° F fHer 02 WeAT W ST dr ST A E
T T % T 08 3 e & |
Note : There are 07 questions in this part and their 02 sections. It is compulsory
to answer any three questions out of four selected from Section-1 and any

two questions out of three selected from Section -2. Each question carries
08 marks.
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Section-1 / @ve-1
General Aptitude / TTHT ST9H=

26 UF TOUTIE | T FET F 400 Ta@ner £ | =98 ¥ 270 "o, 300 3w a9 50 oo e
TENT Tgd £ | I |E S M0 TRd &, W o Tgd £ | 20 T o faee € Ued F |
35 W 7 oo e Ted & | UF famndl s gessAr A S £ | Wi ;e Hie
T 57 T Toremeit she e & Toh O AT TasTe TS el Ugdl | Aol oF ARG H
TN Wt | [3T 9 ;125 v
There are 400 students in a class of a school. Of these 270 study Maths, 300
French and 50 Business Studies. All those who study Maths, study French also. 20
study Maths and Business studies. 35 study French and Business studies. A student

is selected at random. Find the probability that the selected student studies French
but neither Maths nor Business Studies. Use Venn diagram only.

[Answer Limit : 125 words]

27 TR HEAHIA AR B FFAFAN 77 14 AT R HFA & | A 9 B T Homh 37 oA
FH FA & | 71 B Faw C 9 B | I0HA & ST E, o HE UF BT T & S
& | 37%e C Tohe Toeil & 9 74 1 7 0T 7 [3T% 5 ;125 v=]

A and B alone can complete a piece of work in 7 and 14 days, respectively. A and
B work it together for 2 days and after 2 days, C joins them. Now, the work is
completed in one day. In how many days can C alone do that work ?
[Answer Limit : 125 words]
28 120 STG% WTEROT ST 5% § U & &% § T 30,000 3R oar & | 51 99 9%
T 15.200 S T 3&T HLAT & | ST T T H&T FI F 00, AT T 9 9IS, 7 B
T ST &1 2 [ST% & : 125 9=
A man borrowed I 30,000 at the rate of 12% per annum simple interest from a
bank. He paid X 15,200 after two years to the bank. How much he will have to pay,

after two more years, to clear the loan ? [Answer Limit : 125 words]
29w IR ToRET S I SRS god 9 pl AH% god U 99l ¥ | A% 9% UEw %
q% T TAT F, T AT | AT 3T IS | [T7% | ;125 v
A manufacturer sells an article at p% more than the cost of production. If he gives
a discount of q% to the customer, find the profit in percentage.
[Answer Limit : 125 words]
Section-2 / @Us.-2
Ethics / 3= 9°%A
30 S9N I FIIAT S a1 HIeTT | [S==% 9mr : 125 9=
Discuss the formation of attitude. [Answer Limit : 125 words]
31 Tl ToaeRE SRl TOEAT3T o6T HHTS % To10 -1 ANEH & 2 91l iy |
[T | ;125 7=
What is the contribution of the teachings of Swami Vivekanand for Society ?
Explain. [Answer Limit : 125 words]
32 YA H CSEmeREl % e % Taes Sy | (S 9 125 3=

Discuss the importance of *Accountability’ in governance.
[Answer Limit : 125 words]
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Part -4/ 9714
Marks — 80 / 3% — 80
AT HEMEFEA 07 WE E a4 02 @S E | TUs — 01 % 04 7 5§ T 03
9T TS @S — 02 F 03 U H § =T 02 Y91 S ST 54T S AWTE F
T T % [T 16 37 e # |
Note : There are 07 questions in this part and their 02 sections. It is compulsory
to answer any three questions out of four selected from Section-1 and any

two questions out of three selected from Section-2. Each question carries
16 marks.

Section-1 / @vE-1
General Aptitude / T 9w

33 U o7 TS H UMCHE AW 7 9, Mvad qres a0+ q997 19569 97 5o o1
FHHE W FHT FAT & |1 99 2011 H, UIH 97 °E H 79 1, 399 T 26,272 FH =
T Y o1 T T 5,284 Wi AT | W7 % 99 g0 HEA § 39 < 43,008 A
T TAT F TRATHF T 9,376 W Tohar | sk Use BT FvEd HITEeh o 9T HHITH
I 7T I HIT | [T77 9 250 V=]
A selling agent’s remuneration consists partly of a fixed monthly salary and partly
of a fixed percentage on all sales effected by him. During the first four months of
the year 2011, he sold goods for I 26,272 and received a total remuneration of
T 5.284. During the rest of the year, he sold goods for ¥ 43,008 and received the
total remuneration of ¥ 9,376. Find his monthly salary and the percentage rate of
commission. [Answer Limit : 250 words]

34 UFH FATH G H A=E 60 HeT 997 =ieE 40 HET & | W =S g =EE
T 4 HeT S1E U5 A1 % e 9 EET S £ | T 70 g I qeY S | S T
T FT TF 39 HeT | [ET 9 ;250 =]
A rectangular garden is 60 metre long and 40 metre wide. Two cross paths, each 4
metre wide, are to be constructed parallel to the sides of the garden. These paths
pass through the centre of the garden. Find the cost of construction of the two

paths at the rate of ¥ 70 per square metre. [Answer Limit : 250 words]
4%‘ 2% 1
35 T HICAT T * 1 [=5% 9 ; 250 v=]
35+ 17 2+ —
- 24—
=5
1 1
A—__ D=
% ! i
Simplify: l e l [Answer Limit : 250 words]
S+l 2+——
277 |
24—
o L
7y
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36

37

38

39

A. B3 C TH =MR ¥ HIMER 7 | A HEFRT QIR F a9 HH F9 W T A9 F10%
IO % T H WA E | T T B H FERT: 2 3 1 4% ST H R A E | A A
%1 FoT X 3 g Toerd & a1 B & C 1 9 &1 et RT3 ShieT |

[S5% | : 250 9]
A, B and C are partners in a business. A being working partner, receives 10% of
the total profit as salary. The remaining profit is distributed among them in the
ratio 2 : 3 : 4, respectively. If A gets ¥ 3 lac in all, then find the amount received
by B and C. [Answer Limit : 250 words]|

Section-2 / @vI-2

Ethics / 3IT=IX 9IT&T
FATH-TEA T FTET 2t IRt T Te==T it | [S2 9 : 250 v=)
Discuss the role of Ethics in Public Administration. [Answer Limit : 250 words]|
I H TRETEET o foT ST % AR Bl WiHehT i foe==T it |

[==T == 250 vr=|
Discuss the role of "Right to Information’ for transparency in Governance.
[Answer Limit : 250 words]

AT WehYoT BT HTSTETHIIE Tl 4T SH A1 To1% T W1 ST ST ST -

st X U aNE IS & S HAAH S § Hld ANd & | S SEmeig % 9% S % U
Hae FEEdT HI &, SHeT [Fened o S5 SR I ° SEl 7 M 9HE 959 & |

‘T AT 1 U5 [T 1 S=F He oud &1 9o 9 A 999 9% T80 F | 39 am
T o1 X' 7 30 W THA 99§ =T % TR 97 T2 G 9 | TR He 9T % -
TEF AER 9 (9 @ F 9% INEaR % SEE 955 A T2 9 AT H, 39
TorameT = 397 ST 0 37T (ST FIETAT F T e 9eeT 99l UREy Y =4 |
e | 39 URSYd § S 9 §HIGT 9 S & 7

[ : =9 GREIa &f 169 FHT 3TeTT%! 3 = HEaT & Soora |51 <17 ST

s ?
[II : =9 90T % =9 H fora=mr i 5 o <X %1 =47 347 9160 ?
[ST% I : 250 =]

Study the following case carefully and answer the questions that follow :
Mr. "X’ is a veteran teacher who is very popular among his students. He frequently
offers students extra help after school, so it is not uncommon to see students
visiting his classroom after school. He has tutored one student ‘Swati’ in a variety
of subjects over a two years period. During that time Mr ‘X’ has e-mailed
messages on Swati’s cell phone, using his personal e-mail address. At first, the
messages were very general (e.g. asking Swati, about a sick family member).
Recently, the student began to text her teacher about more personal feelings.
Questions : I : What possible issues/concerns might this scenario raise ?

[ : How can this situation become a violation of the professional

code of conduct for teachers ?
[l : Discuss the case “What should Mr ‘X’ do ?

[Answer Limit : 250 words]|
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